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SECTION A: MATHEMATICS
PART I (24 marks)

Arswer ALE the queshons iy His part.

kS Evaluate 24 =3+ d=xh—=R=4x10+1, {3 marks)
2 The mean height of five girls was found to be 148 cm. When a sixth girl joined the groop the

meat height was reduced by 3 cm. Determine the height of the sixth airl, (3 marks)
3, Solve for x in the equation:

(R g (3 marks)
4, Lsing mathematical tables, evaloate:

|5ﬁ}?_liﬂ"§- (3 marks)
Y, Sobve for o oan the equation:

T +3z—5d =0 (3 marks)
. AL hectare tarin is o e shared among thrce persoRs (A, B and ©) m the ration 2:3:4,

Calculate the size of each share. (3 marks)
2 Dran bowght & cow at Ksh 18000 and sold srat Ksh 210005 Determine the percentage profit he

made, {3 marks)
B. Using mathematival tables, evaluate:

11]125 ! 1125 {3 marks)
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PART II (16 murks)

Answer any TWO guestions from this pari.

. Figure | shows i sector of a circle. Calculate the area of the shaded region:
22
(Take 7= ) (8 marks)

Fig. 1

i Solve the followmg set of simultanecus equations:
ar+ 4y — 15 =0

Bt iy — 28 = 0 PG
1. fa) Accone has aheaght of 1 2cmeand the length of its slant side is 13 em. Caleulate the
diameter of the base. {5 marks)
bt Make g the subject of the formula;
=2 LJF {3 marks)
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SFECTION B: SCIENCE
PART I: (Zd'marks)

Answer ALL the questions in this part.

12, State three disadvintares of faction. (3 marks)
13- {a) Dehne an angle of incidence as applicd to mirmors, 1 mark)
(b} State two laws of refraction, {2 Tnarks)
Fil., Cluthne three sdvaniapges of secondary cells. {3 marks)
13, Aboystood 200 m from awall ind banged two pieces of wood 1ogether. He heard an echo
atter 1.2 seconds, Caleolate the speed of the soumd, (3 maarks)
6, State three etfects of a force on a bady. {3 marks)
1T (a1 Siate the principle of momenes. i1 mark)

(hi Figure 2 shows a pivoted plank of negligible mass. Calealate the value of W

{2 maris)
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Fig. 2

18, {a}  Debne the fer pressore, {1 mark)
(5 State two mstrwments that can be ised to measure pressure, (2 marks)
19,  (a) Deline a scalas goantily. { I mark)

(by  The velocity of 4 particle mereases uniformly from: 29 m/ o 59 m's in one minate,
Determine the acceleration. {2 marks)
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PART II (16 marks)
Annwer-any TWO questions from this part.

3 shows micros screw cauge state its reading. miarks
Higure 3 shows micromerer sceew cange state 118 reading (2 mark

n i
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Fig. 3

Outline the steps that should be fallowed when using a metre eule to measure the
lemeth of 4 workshop table. (f marks)

Define each of the following in relation to simple machines:

(il mechamecal advantage;
1)  velocity ratio;
(1] ethiciency.
(3 marks)

Inamachine, o load moves 2 mowhen the cfort moves 8 m, I aneffort of 200N 15 used
to raise a load of 60 N; determine the cfhciency of the machine. {5 marks)

Figure 4 shows 4 cross sectioneol w dry cell.
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] Name the parts labelled D, E and F

(i)  State the function of cach of the parts named in (i),
{ & marks)

(b Awire of resistance 201 8 15 connected across a battery of 3 V. Calculate the current in
the circuit. i 2 marks)

SECTION C; GENERAL STUDIES
PART I {20 marks)
Answer BOTH guestions in this part.

23, Write an cssay of about 200 words en the topic “Benefits that a usiness iy derive from
participating m a trade show. {16 marks)

4. (a)  Outline three siation when verbal communication iy be used in @0 organization.
{3 marks)

{b)  Classity each of the following costs incurred in a business as either vanable cost or
fixeal cost:

(1) Nt payInenis:

(i) labonr coss:

(it}  Insurance:

{ivy  cost of raw materialsg?
(V) cost of electrcty

(Vi¥ ot of machinery.

(3 marks}
(¢} St two advantages of making payments by cash, (2 marks)
(di  Oudine two functions of the Public Service Commission of Kenya. (2 marks)
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PART I (20 marks)

Avswer gy FIVE questions from this pari,

25 (a) List two [onms of body language that may convey a message. {2 marks)
(b State two sources of finance for a company. (2 marks)

20 (E) List two oceasions during which songs were sang in the traditional Africian
COMmRInities. (2 marks)
(b} State two positive leisure activities. {2 marks)

2. da)  COutline twe ways m which parental dmg and substance abuse may affect other family

menibers. {2 marks)
thl  State two disadvantages of polygamy, (2 marks)
8. (a) tate two characienstics of a good speech. (2 marks)

() Outhne two wavs of demonstrating courtesy when making a telephone call.

[2 marks}

28, qa) State two effects of Aoods on a conntry, (2 marks)
(by  State two advaniages of using biogas. (2 marks)

£l {a) Outline two benefits of maintaining a coshboak in an oreanization. {2 marks)

(B} Slite two contributions of savings credit societies to the Kenvan economy. {2 murks)
31, @ List two types of audio-visual comminicalion. {2 marks)

(b} Listtwo types of media through which an organization may advertise its products,

(2 marks)

3. fa)  State two roles played by the Teachers Service Commission (TSC) in Kenya.
(2 marks)
4] Oatline two effects of deforestation on & country. (2marks)
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